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fAH: S2st22 1
M AN ALY
e S22 NN AS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLH=xE *FU 50,000& x53] 250
401 AIEHI L 2CHEI 75,000 16,000 59,000
01 A& Bl 75,000 16,000 59,000
OSH2ZR AEES FANEFAY
15,000, 000& 15,000
Os&2Z2XT U & 23 A 10,000,000 10,000
OZZHASAMY JI2LH S 50,000,000 50,000
AtotataHEH 29 427,798 25,238 402,560
201 et2 Y| 25,798 25,238 560
02 2324l 25,798 25,238 560
O gt ey 29 23R= 25,798
0.87123 1,400,000 128 16,800
0.2st2e| A +=+2 125,000 128 1,500
0.8%7] =2 100,000& = 12& 1,200
0.527] EIIZM =8 250,000& *13] 250
0.8JIMAH =2 1,200,000& *13] 1,200
0.&J]e-A 2te| ] 250,000 128 3,000
0.2 ZHAAE XNESx=+2
154,000 128 1,848
401 AIEHI L 2 CHYI 402,000 0 402,000
01 A& HI 402,000 0 402,000
O gretat ey MAIAIE EXAY
400,000,000 400,000
O &ZJ| HASS, HIAZHEX EXSA
2,000,000& 2,000
S ZZAENE ALY 65,000 50,000 15,000
401 Al HI L 2 THHI 65,000 50,000 15,000
01 A& HI 65,000 50,000 15,000
O MSESHII MBS ANESEF3A
50,000,000 50,000
O Z&28 =% Z&EHy W™ 15,000,000 15,000
XI2larp 2N ALY 1,000,000 1,800,000 800,000
= 500,000
< 150,000
[ia 350,000
GANSE2ME NS EZLEAY 1,000,000 1,800,000 A800,000
= 500,000
< 150,000
s 350,000
401 AIEHI L 2 CHYI 1,000,000 1,800,000 A 800,000
& 500,000
< 150,000
[ia 350,000
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fAH: S2st22 1
M BTN LAY
Chelr Xolatd 202 ALY (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& bl 993,700 1,793,520 A799,820
OgANESE=SHE IS EE ALY
993,700, 000& 993,700
= 500,000
< 150,000
[ia 343,700
03 A& =2 THHI 6,300 6,480 A 180
OEYAMNSSSHE NS EZILHAY 20U
1,000,000,000& *0.63/100 6,300
NelohdH 2 Z e g 1,165,678 1,859,006 A 693,328
& 678,000
< 135,600
e 352,078
NelaA2ZHLES2F 35,978 37,326 AN 1,348
308 XXM S0 A 35,978 37,326 A 1,348
05 XX SHM2ARES 35,978 37,326 N 1,348
OXlelsrd 22 AL 35,978
0.Xl2la BENSZE 223
35,978,000 35,978
NelatA7S701s 4 66,600 70,000 A 3,400
= 40,000
< 8,000
[ia 18,600
308 AXIEHS0IA 66,600 70,000 A 3,400
& 40,000
< 8,000
[ia 18,600
05 HXSHHM2URE = 66,600 70,000 A 3,400
OXeldAH7S70ISE AL 66,600,000 66,600
& 40,000
< 8,000
s 18,600
SEZSHZANYEU=ZE 100,000 430,000 A 330,000
& 60,000
< 12,000
s 28,000
308 XXM S0 A 100,000 430,000 A 330,000
= 60,000
< 12,000
[ia 28,000
05 XXM RES 100,000 430,000 A 330,000
OXeitASEZS2ZANEOIS LAY
100,000, 000& 100,000
& 60,000
= 12,000
s 28,000
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X ZH -
L= B

el

= &

=

A
U ol fon
PPN}
o o

el
T
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o
P

gﬂ
m
0
m

{0

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

AelatHA o 2230 35,000 35,000 0
21,000
4,200
9,800

Mook

308 MHXIEHMS0IH 35,000 35,000 0
21,000
4,200
9,800

Mooy

fEg=2 35,000 35,000 0
OXiclatAAN 22 A ZHL ALY 35,000,000 35,000
21,000

,200
9,800

MHOH o
N

Of
>
|
il
o0
K
j
>
X
o
0x
®

,600 30,000 51,600
49,000
,800
22,800

A oo
(o)

308 MtXIEHMSOIH 81,600 30,000 51,600
49,000
,800
22,800

A oo
(o)

05 MHXISH2ARES 81,600 30,000 51,600
OXelMASHI2Z=UAIESHAY
8

1,

(e}

00,000& 81,600
49,000
,800
22,800

MHJoHooR
[(e}

ANejatd 2= 2484 146,600 150,000 A 3,400

88,000
17,600
41,000

A oo

308 MtXIEHMSOIH 146,600 150,000 A 3,400

88,000
17,600
41,000

A oo

05 RtXIEHH 2t 2 &

OXlclatd 22

146,600 160,000 23,400
B2 AMY 146,600,000 146,600

88,000
17,600
41,000

M- oU

Mook

22 03tH0I2E 200,000 33,340 166,660
120,000
24,000
56,000

Mo oo

308 MHXItHMS0H 200,000 33,340 166,660

120,000
24,000

ooy
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Off &t 24

=

M
2Hm
==
£l
Ol
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HJ

56,000

05 AXIHHLESS 200,000 33,340 166,660
OXlelsrA2Z209tdi 0l 2 E At
200,000,000 200,000

120,000
24,000
56,000

A oo

014 Xiclatd =2 of 333,300 166,670 166,630
200,000
40,000
93,300

M H oo

308 NHXIEHHMSO0IE 333,300 166,670 166,630
200,000
40,000
93,300

Moo

05 X SHHLESS 333,300 166,670 166,630
02014 Xcl&t2 =22 ol 333,300,000& 333,300
200,000

40,000
93,300

Mo oo

Er2E0cIsEAExd 166,600 306,670 A 140,070
100,000
20,000
46,600

MHOH o

308 XXM S0I™ 166,600 306,670 A 140,070
100,000
20,000
46,600

MHOH OB

05 IXSHH2LES S 166,600 306,670 A140,070
OHH2EHeISEANE LAY 166,600,000 166,600

100,000
20,000
46,600

M H oo

Y
r
o
0
W
o
b
0
N

671,441 2,824,502 1,846,939
1,559,000
115,513
350,726
,646,202

0

S

Mo
V)

HJ
e
10
i
O
]
0x
ton

,043,782 973,508 70,274
115,513
35,726
892,543

S

UL

U2 X SHLBIN XS etet 85,000 325,600 A 240,600

307 212+0

& 85,000 293,600 A 208,600

J
(O]

02 2B ExXS 85,000 13,600 71,400

o
=

r

O
0=
o
0
=)
[
Im
é
H0
H0
0%
>~

E!
10,000, 000& 10,000
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2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Otz seH=s 2EX& 40,000,000 40,000
OSMARES SLN
2H&E= = 2,500,000 5,000
OUERESISE HEPY
1CH = 30,000,000 30,000
HEHE ANBSAME 2 15,600 17,000 A1,400
< 4,800
s 10,800
307 21201 A 15,600 17,000 A 1,400
< 4,800
[ia 10,800
02 QB AEXS 15,600 17,000 A 1,400
OMENESAHIASAH 2 1,600, 000& 1,600
= 800
fia 800
OANzdEHsUasd 14,000,000 14,000
= 4,000
[ia 10,000
MW MEMEANEZ=X X 125,040 132,480 AT,440
J| 60,720
[ia 64,320
307 21201 A 125,040 132,480 AT,440
J| 60,720
e 64,320
02 B AEXRS 125,040 132,480 AT,440
ORYM MEBAHSXNS RIS
5% +24,288,000& 121,440
J| 60,720
s 60,720
OXIHN MEMSANEXN nSH XA
60,000 «5H 122 3,600
MEH S WA 12,096 15,120 A 3,024
< 3,628
e 8,468
307 glz2+ol & 12,096 15,120 A 3,024
< 3,628
i 8,468
02 2B AEXS 12,096 15,120 A 3,024
OdEN=ua2d 12,096,000 12,096
< 3,628
s 8,468
MEXsZz IO X 9,792 12,240 A2,448
< 2,937
[ia 6,855
307 21201 A 9,792 12,240 A2,448
< 2,937




fAH: S2st22 1
M AXE NSHE
Sl ROINSHE B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 6,855
02 BInHFAEXS 9,792 12,240 A2,448
OHENsSZZINSsE2H 9,792,000 9,792
= 2,937
s 6,855
Hzd Msagsid 75,024 44,160 30,864
J| 36,432
s 38,592
307 gl2tol & 75,024 44,160 30,864
J| 36,432
s 38,592
02 BIZHEANEXS 75,024 44,160 30,864
OGBS EN2SE
3% +24,288,000& 72,864
J| 36,432
s 36,432
OV EHUENSAN =N nsHl K&
60,000 «3H 12 2,160
deE=sassdNd 47,000 47,000 0
< 22,000
s 25,000
307 21201 A 47,000 47,000 0
= 22,000
= 25,000
04 QIZHHAIE = 47,000 47,000 0
OZ & XIAEH HEE S W=l
47,000,000 47,000
< 22,000
s 25,000
AZX HIRH™MAY 26,230 21,908 4,322
J| 18,361
= 2,361
[ia 5,508
301 et a3z 26,230 0 26,230
J| 18,361
< 2,361
s 5,508
01 Ml28E+06l= 26,230 0 26,230
O AXZX HIRHALY 26,230,000& 26,230
J| 18,361
= 2,361
e 5,508
COMSUHE ALK 150,000 110,000 40,000
307 glz2tol & 150,000 110,000 40,000
04 QIZtHAIE X = 150,000 110,000 40,000
OZQXN=CHE AKX 150,000, 000& 150,000
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fAH: S2st22 1
Hu: AME HREES N
?e: ZUNEEs 243 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= HMsHE HE XA 160,000 0 160,000
307 glz2tol & 160,000 0 160,000
04 QIZtHAIE X = 160,000 0 160,000
O=Z2e & MsHAM
10,000,000& = 11HSH 110,000
OzZ2dM=sMa MHa X 50,000,000& 50,000
ERMENMSZH WG A 7,000 0 7,000
201 LBt 7,000 0 7,000
03 &AL2 I 7,000 0 7,000
Ogd=2RMeExsSZTH HEIGE A WA
7,000,000& 7,000
MENETE HEIE A 7,000 0 7,000
201 Let24E] 7,000 0 7,000
03 A2 & H| 7,000 0 7,000
OM=x HM2E7& MEIIE A =l
7,000,000 7,000
HEeEfsd+=S4A& 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 QIZtHAIE X = 10,000 0 10,000
OHs 2=+ 54 & 10,000, 000& 10,000
ZEZHENSUHEH 75,000 0 75,000
307 glz2tol & 75,000 0 75,000
04 QIZtHAIE XS 75,000 0 75,000
Oddr s tsd &It J&
75,000,000& 75,000
HAES2EM=EU 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 QIZtHAIE X = 30,000 0 30,000
OHASSLUSH &4
2,500,000& 12 &= 30,000
MEZI2HPME=SAU = 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 QIZHHAIE X = 20,000 0 20,000
O&tdEZ JIZHHNE =203 N
20,000,000& 20,000
StNMBHSAE ALE 6,000 0 6,000
307 21201 A 6,000 0 6,000
04 QIZtHAIE = 6,000 0 6,000
OHHEQE STNMEMISAE AEXH
6,000,000 6,000
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2AMd: 2322
M ANME MESEsS XNE
oel: RONSEE B (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Xl =0l st e AL 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
04 RIZIHAIE RS 8,000 0 8,000
OM=¢el stet&d Al 8,000,000 8,000
HEAMEXN =S 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 BIZHHAIE RS 10,000 0 10,000
Oo2d M =Hal &I XI& 10,000,000 10,000
FSNESISEC RSN 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 QIZtHAIZB X3 20,000 0 20,000
OdXI=dgE =X 20,000, 000& 20,000
A= Y ZChel A} 58,000 0 58,000
307 gl2tol & 58,000 0 58,000
04 DIZtSHA R X 2 58,000 0 58,000
OZ & RIAEHCHSEl &IF XI& 30,000,000 30,000
Oz2Y M2 U COHANSHA &I}
18,000, 000& 18,000
OdEti=sz s4X& 10,000, 000& 10,000
H=EE U 35,000 0 35,000
307 21201 A 35,000 0 35,000
04 QIZtHAIZ X3 35,000 0 35,000
O&=2Z&2Ual Nl 35,000,000& 35,000
ZadE B8 HASZ A=A 32,000 0 32,000
307 gl2tol & 32,000 0 32,000
04 DIISHA R X 2 32,000 0 32,000
OZagr TE A=A HA
32,000,000& 32,000
Nelatd 7HAIZ M=sUE 20,000 0 20,000
201 Let24d] 20,000 0 20,000
03 A2 S HI 20,000 0 20,000
OXlelstd 7HAIZ MSUa &It
20,000,000 20,000
HEAMEEd 871,659 647,441 224,218
S3HSANE2Y 400,074 368,941 31,133
101 @14 dl 44,733 29,540 15,193
4 D12t ZE2XREES 44,733 29,540 15,193
OzeesSIEHEHARY
41,6803 x221 x50 4,168

_34_




2N

=}
o =]
MM AME AREE N

el MSAL2Y (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXNMBSIAFTHFH|I IR 41,6803 x121%30 1,251
OcdZ8ElE 22 41,6803 *x3021 x50 7,503
O2=&FedH o2 41,680 121 %30 1,251
OZUMRHEHFHEHI AR N
41,680 121 x50 2,084
OMZIME3d 2R 14,238
0.Jl2=2 41,6803 101 x250 10,420
0.F=X=¢ 41,6803 1021 x52 2,168
0.=01HUdEE = 12,587,360& *2.995% 377
0.1s28a 12,587,360& *x1.5% 189
0.AHHEE 2 12,587 ,360& x4 .0% 504
0.=201H 32 12,587 ,360& x4 .5% 567
0.Lo&IRAEE S 376,991& x3.275% 13
OdRMEXNSIR 2o 14,238
0.2 41,6803 121 %250 10,420
0.F=Xx=¢ 41,680 1021 %52 2,168
0.=200H2d28= 12,587 ,360& *2.995% 377
0.1888sa 12,587,360 *x1.5% 189
O.AHTHEE & 12,587 ,360& x4 .0% 504
0.=201432 12,587,360 x4 .5% 567
0.L 0 &IRAEEE 376,991& x3.275% 13
29l 176,341 173,001 3,340
22l dl 16,690 19,370 AN 2,680
Bt~ 24| 7,820
o gq3 7 60,0003 *x6IH A~ *x33] 1,080
M o0t 2 3,000& =400~ 12& 1,440
AMHH S A AZE 22
200,000& 64 A~ 1,200
AJeE (2L, UES)=Y 1,500,000 1,500
SN0 = 50,000& *4 A+ 12& 2,400
0.2ttt A =Y 200,000 »1H 200
O 8% AHoE=Z23 294l X3
100,000 x4& x15& 3| 6,000
OF=1=1] 2,870
0.2H(HESALE=ZX) 7,000& x5021 %70 2,450
0.2 (HZEHIAZR) 7,000 221 %30 420
02 352494l 159,651 153,631 6,020
O2222 2 MA 151,951
0. 8Dt HHTF 845,000& 12& 10,140
0.4t ERUHE-= 323,000& x12& 3,876
0.A01222 14,5203 x12& 175
0.8JI2 131,220
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2N

=}
o =]
MM AME AREE N

SR MSAL2S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
odUM=E2 &JIR=  3,000,000&+12& 36,000
oMENESE HIIes
1,200,000& 122 14,400
0 Z24E2sE MII23 1,500,000 128 18,000
oMAEIMEHEH MIIRIB
1,800,000 »12& 21,600
odRMENSSE MRS
1,300,000& »12& 15,600
oHIUA,Z2EE MII23 815,000 128 9,780
oHEESHEHE HIIR=  500,000&*12& 6,000
o RMIR HMIIRIS 350,000& »12& 4,200
OSENMAZTHOEZSEZEIRS
400,000& x12& 4,800
042 MESAEES &HIIe=
70,0002 128 840
0.46t+==R= 450,000& x12& 5,400
0.83t23 70,0003 x12& 840
EEM =22 NS 300,000& =13l 300
OA&EHl s Xl 7,700
0.E3HSAERAZ2(HUAE HIE=FH
VHEEER) 2,200
(O 5,000& »4001L 2,000
03JtZ 4,000 x50 2 200
O.2UHMS2IAHLELH RRE =
500,000& x13l 500
0.=F&EIIAHALEHIRAES 500,000 *13] 500
0.8JIANE2eRXE = 500,000& =13l 500
0.M=A4 SX2eltl 2,000, 000% *204 & 4,000
202 044l 9,000 7,800 1,200
01 SLHOYI 9,000 7,800 1,200
OM=g2=80tl 150,000& x5Q1 x12& 9,000
206 T 24 2,000 2,000 0
01 =8l 2,000 2,000 0
O==2el 8l E, 88, 0tMNEZLY
500,000& *43] 2,000
307 21201 A 168,000 156,600 11,400
05 BIZERIE 3 168,000 156,600 11,400
O+ H, K02 FOIASE
14,000,000& =122 168,000
T2 MSALES 471,585 278,500 193,085
401 AIEHI L 2 CHYI 471,585 278,500 193,085
01 A& HI 469,000 276,710 192,290
OZEHMSAE A7E2 ==cl=& 10,000,000& 10,000
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2N

=}
o =]
MM AME AREE N

e HMSAE2d (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Os8H8E ARSHSAEES
10,000,000 115 ™ 110,000
OCHEEE2 AlEd28 BE2AY
100,000,000 = 14! 100,000
OcHEZE DA OFMAIA A X & HH|
9,000,000 9,000
O89 OrSsIIFFEXAY
11 S 9 %10,000, 000 110,000
OMSAYE 2HSANL2ASAIEES
30,000,000 30,000
OAUNME2 SE2SE ARA B2
10,000,000 10,000
O2L2sd =222 Ax & W2l 24
10,000,000 10,000
O=0MHEH &€ tH==Z2 HHIS Al
10,000,000& 10,000
OXEANOIESE SEA MELAY
15,000,000 15,000
OAUEIE S 28X Z2A 30,000, 000& 30,000
OZ0MSHEH HE HME A 5,000,000 5,000
OM=E3 & &= SIAMY 20,000,000 20,000
03 AlIEE2HH] 2,585 1,790 795
OLAZMEAIE EFSAIY A& 20|
359,000,000 *0.72% 2,585
Z2HS AL 22 2,756,000 1,203,553 1,552,447
2 1,559,000
= 315,000
= 882,000
ANEHEZ2S XEAMY 1,450,000 400,000 1,050,000
2 700,000
= 315,000
= 435,000
401 A& HIZL £ 0HY| 1,450,000 400,000 1,050,000
2 700,000
& 315,000
= 435,000
01 Al& B 1,444,780 400,000 1,044,780
OAMNFMEHNS2IZLAIE Al&H|
1,444 ,780,000 1,444,780
2 700,000
= 315,000
= 429,780
03 Al 20| 5,220 0 5,220
OAl&E S0l 1,450,000,000& 0. 36% 5,220
MEOCIOISLEHAAIL (HHE S AIY) 756,000 0 756,000
2 639,000
= 117,000
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fAH: S2st22 1
Hu: AME HREES N
Sl BTHSAL DL CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 756,000 0 756,000
& 639,000
e 117,000
01 A& HI 751,237 0 751,237
O4tEMetdts2 =&AL Al
751,237,000& 751,237
& 639,000
e 112,237
03 A& S THHI 4,763 0 4,763
OAIZ 24l 756,000,000& *0.63% 4,763
g2 SEZ(MEFEH)AEAY 300,000 0 300,000
= 120,000
[ia 180,000
401 AIEHI L 20 300,000 0 300,000
=1 120,000
s 180,000
01 A& Bl 297,840 0 297,840
Ogs S (MEFH)AHASH
297,840,000 297,840
= 120,000
i 177,840
03 Al 2 THHI 2,160 0 2,160
OLs 2EZ(HFF)AY 2oyl
300,000,000& *0.72% 2,160
M MEERI2SHAE A ALY 250,000 0 250,000
& 100,000
s 150,000
401 AIEHI L 20 250,000 0 250,000
= 100,000
s 150,000
01 A& HI 248,200 0 248,200
Od=z= SEPEZEEHAS ALZHl  248,200,000& 248,200
& 100,000
s 148,200
03 Al S THHI 1,800 0 1,800
Odx EI2HHAE 20l
250,000,000& *0.72% 1,800
sS(=sha2t2 ) 500,758 930,197 AN 429,439
Hel XI& 500,758 912,478 A411,720
FaM=dEII= B 50,000 50,000 0
702 JISHES 50,000 50,000 0
0 II2d8E3 50,000 50,000 0
OFstl=aElI38= 50,000, 000& 50,000
SSNMLAMY &= 450,758 862,478 A411,720
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